
W W W . A D A M O T L E W S K I . C O M                                                                         I N Q U I R I E S @ A D A M O T L E W S K I . C O M

31 4" 43 4"

87 8"

73
4"

4"
41 2"

Ø4"

31 4"

BACKPLATE SCREWS DIRECTLY
TO VERTICAL SINGLE GANG
JUNCTON BOX, 3-1/4" SCREW
DISTANCE

SERIES 01 SMALL SCONCE

6ROLG�PDFKLQHG�EUDVV�ZLWK�VRIW��XQVWUXFWXUHG�KDQG�G\HG�
SLYRWLQJ�OHDWKHU�VKDGH���$OVR�DYDLODEOH�ZLWK�EUDVV�WRJJOH�VZLWFK�
RQ�EDFNSODWH�RU�FRUGHG�SOXJ�LQ�YHUVLRQ� �7KH�RSDTXH�QDWXUH�RI�WKH�
OHDWKHU�VKDGH�FUHDWHV�DQ�RYHUDOO�HIIHFW�RI�FRPSDFW�GLUHFWHG�
OLJKWLQJ�ZHOO�VXLWHG�IRU�UHDGLQJ��FRUULGRUV��DQG�VPDOO�VSDFHV��
$OVR�DYDLODEOH�ZLWK�EDFNSODWH�VZLWFK�RU�FRUGHG�ZLWK�SOXJ�

�����«+�[������«'�[��«:

0RXQWV�RQO\�WR�D�VWDQGDUG�YHUWLFDO�VLQJOH�JDQJ�MXQFWLRQ�ER[��VFUHZ�
GLVWDQFH������«���7R�EH�LQVWDOOHG�RQO\�E\�D�OLFHQVHV�HOHFWULFLDQ�
$OO�PDWHULDO�´QLVKHV�DUH�OLYLQJ�´QLVKHV��WKH\�ZLOO�FKDQJH�DQG�SDWLQD�IRU� 
WKH�EHWWHU�ZLWK�WLPH�DQG�XVH��(YHU\�SURGXFW�LV�LQGLYLGXDOO\�KDQG�
DVVHPEOHG��VOLJKW�YDULDWLRQV�LQ�FRORU��VL]H�DQG�VKDSH�DUH�WR�EH�H[SHFWHG���
5HFRPPHQGHG�EXOE�ª/('����:DWW�(TXLYDOHQW�*���*OREH�����N�
'LPPDEOH«�LQFOXGHG��/('�EXOE�RQO\���
(���NH\OHVV�VRFNHW� 
1RW�VXLWDEOH�IRU�GDPS�ORFDWLRQV�
/HDG�WLPH�DSSUR[����ZHHNV��
8/�FHUWL´FDWLRQ��DV�ZHOO�DV�FXVWRP�VL]LQJ��FRQ´JXUDWLRQV�DQG�´QLVKHV�DUH�
DYDLODEOH�XSRQ�UHTXHVW� 



W W W . A D A M O T L E W S K I . C O M                                                                         I N Q U I R I E S @ A D A M O T L E W S K I . C O M

9"

73
4"

41 2"

Ø4"

UNIVERSAL CROSSBAR BEHIND
BACKPLATE MOUNTS TO JBOX

WITH 2-3/4" OR 3-1/2" SCREW
DISTANCE

Ø5

SERIES 01 SMALL SCONCE WITH ROUND PLATE

6ROLG�PDFKLQHG�EUDVV�ZLWK�VRIW��XQVWUXFWXUHG�KDQG�G\HG�
SLYRWLQJ�OHDWKHU�VKDGH���$OVR�DYDLODEOH�ZLWK�EUDVV�WRJJOH�VZLWFK�RQ�EDFNSODWH�RU�
FRUGHG�SOXJ�LQ�YHUVLRQ� �7KH�RSDTXH�QDWXUH�RI�WKH�OHDWKHU�VKDGH�FUHDWHV�DQ�RYHUDOO�
HIIHFW�RI�FRPSDFW�GLUHFWHG�
OLJKWLQJ�ZHOO�VXLWHG�IRU�UHDGLQJ��FRUULGRUV��DQG�VPDOO�VSDFHV��

�«+�[������«'�[��«:

0RXQWV�RQO\�WR�VWDQGDUG�MXQFWLRQ�ER[HV�ZLWK������«�RU������«�PRXQWLQJ�
VFUHZ�GLVDQFH��7R�EH�LQVWDOOHG�RQO\�E\�D�OLFHQVHV�HOHFWULFLDQ�
$OO�PDWHULDO�´QLVKHV�DUH�OLYLQJ�´QLVKHV��WKH\�ZLOO�FKDQJH�DQG�SDWLQD�IRU� 
WKH�EHWWHU�ZLWK�WLPH�DQG�XVH��(YHU\�SURGXFW�LV�LQGLYLGXDOO\�KDQG�
DVVHPEOHG��VOLJKW�YDULDWLRQV�LQ�FRORU��VL]H�DQG�VKDSH�DUH�WR�EH�H[SHFWHG���
5HFRPPHQGHG�EXOE�ª/('����:DWW�(TXLYDOHQW�*���*OREH�����N�
'LPPDEOH«�LQFOXGHG��/('�EXOE�RQO\���
(���NH\OHVV�VRFNHW� 
1RW�VXLWDEOH�IRU�GDPS�ORFDWLRQV�
/HDG�WLPH�DSSUR[����ZHHNV��
8/�FHUWL´FDWLRQ��DV�ZHOO�DV�FXVWRP�VL]LQJ��FRQ´JXUDWLRQV�DQG�´QLVKHV�DUH�
DYDLODEOH�XSRQ�UHTXHVW� 



W W W . A D A M O T L E W S K I . C O M                                                                         I N Q U I R I E S @ A D A M O T L E W S K I . C O M

31 4"

21
2"

43 4"

15
7 8"

83
4"

6"

51 2"

Ø6"

31 4"

BACKPLATE SCREWS DIRECTLY
TO VERTICAL SINGLE GANG
JUNCTON BOX, 3-1/4" SCREW
DISTANCE

0RXQWV�RQO\�WR�D�VWDQGDUG�YHUWLFDO�VLQJOH�JDQJ�MXQFWLRQ�ER[��VFUHZ�
GLVWDQFH������«���7R�EH�LQVWDOOHG�RQO\�E\�D�OLFHQVHG�HOHFWULFLDQ�
$OO�PDWHULDO�´QLVKHV�DUH�OLYLQJ�´QLVKHV��WKH\�ZLOO�FKDQJH�DQG�SDWLQD�IRU� 
WKH�EHWWHU�ZLWK�WLPH�DQG�XVH��(YHU\�SURGXFW�LV�LQGLYLGXDOO\�KDQG�
DVVHPEOHG��VOLJKW�YDULDWLRQV�LQ�FRORU��VL]H�DQG�VKDSH�DUH�WR�EH�H[SHFWHG���
5HFRPPHQGHG�EXOE�ª/('����:DWW�(TXLYDOHQW�*���*OREH�����N�
'LPPDEOH«�LQFOXGHG��/('�EXOE�RQO\���
(���NH\OHVV�VRFNHW� 
1RW�VXLWDEOH�IRU�GDPS�ORFDWLRQV�
/HDG�WLPH�DSSUR[����ZHHNV��
8/�FHUWL´FDWLRQ��DV�ZHOO�DV�FXVWRP�VL]LQJ��FRQ´JXUDWLRQV�DQG�´QLVKHV�DUH�
DYDLODEOH�XSRQ�UHTXHVW� 

SERIES 01 LARGE SCONCE

6ROLG�PDFKLQHG�EUDVV�ZLWK�VRIW��XQVWUXFWXUHG�KDQG�G\HG�SLYRWLQJ�
OHDWKHU�VKDGH���$OVR�DYDLODEOH�ZLWK�EUDVV�WRJJOH�VZLWFK�RQ�EDFNSODWH�
RU�FRUGHG�SOXJ�LQ�YHUVLRQ� �7KH�RSDTXH�QDWXUH�RI�WKH�OHDWKHU�VKDGH�
FUHDWHV�DQ�RYHUDOO�HIIHFW�RI�FRPSDFW�GLUHFWHG�OLJKWLQJ�ZHOO�VXLWHG�IRU�
OLEUDULHV�DQG�FRUULGRUV��DQG�WKH�DGMXVWDEOH�VKDGH�OHQGV�LW�WR�EHGVLGH�
UHDGLQJ���
$OVR�DYDLODEOH�ZLWK�EDFNSODWH�VZLWFK�RU�FRUGHG�ZLWK�SOXJ�
������«+�[������«'�[��«:�



W W W . A D A M O T L E W S K I . C O M                                                                         I N Q U I R I E S @ A D A M O T L E W S K I . C O M

0RXQWV�RQO\�WR�VWDQGDUG�MXQFWLRQ�ER[HV�ZLWK������«�RU������«�PRXQWLQJ�
VFUHZ�GLVDQFH��7R�EH�LQVWDOOHG�RQO\�E\�D�OLFHQVHG�HOHFWULFLDQ�
$OO�PDWHULDO�´QLVKHV�DUH�OLYLQJ�´QLVKHV��WKH\�ZLOO�FKDQJH�DQG�SDWLQD�IRU� 
WKH�EHWWHU�ZLWK�WLPH�DQG�XVH��(YHU\�SURGXFW�LV�LQGLYLGXDOO\�KDQG�
DVVHPEOHG��VOLJKW�YDULDWLRQV�LQ�FRORU��VL]H�DQG�VKDSH�DUH�WR�EH�H[SHFWHG���
5HFRPPHQGHG�EXOE�ª/('����:DWW�(TXLYDOHQW�*���*OREH�����N�
'LPPDEOH«�LQFOXGHG��/('�EXOE�RQO\���
(���NH\OHVV�VRFNHW� 
1RW�VXLWDEOH�IRU�GDPS�ORFDWLRQV�
/HDG�WLPH�DSSUR[����ZHHNV��
8/�FHUWL´FDWLRQ��DV�ZHOO�DV�FXVWRP�VL]LQJ��FRQ´JXUDWLRQV�DQG�´QLVKHV�DUH�
DYDLODEOH�XSRQ�UHTXHVW� 

SERIES 01 LARGE SCONCE WITH ROUND PLATE

6ROLG�PDFKLQHG�EUDVV�ZLWK�VRIW��XQVWUXFWXUHG�KDQG�G\HG�SLYRWLQJ�OHDWKHU�
VKDGH���$OVR�DYDLODEOH�ZLWK�EUDVV�WRJJOH�VZLWFK�RQ�EDFNSODWH�RU�FRUGHG�SOXJ�
LQ�YHUVLRQ� �7KH�RSDTXH�QDWXUH�RI�WKH�OHDWKHU�VKDGH�FUHDWHV�DQ�RYHUDOO�HIIHFW�
RI�FRPSDFW�GLUHFWHG�OLJKWLQJ�ZHOO�VXLWHG�IRU�OLEUDULHV�DQG�FRUULGRUV��DQG�WKH�
DGMXVWDEOH�VKDGH�OHQGV�LW�WR�EHGVLGH�UHDGLQJ���
��«+�[������«'�[��«:�

16
"

83
4"

51 2"

Ø6"

UNIVERSAL CROSSBAR BEHIND
BACKPLATE MOUNTS TO JBOX

WITH 2-3/4" OR 3-1/2" SCREW
DISTANCE

Ø5



W W W . A D A M O T L E W S K I . C O M                                                                         I N Q U I R I E S @ A D A M O T L E W S K I . C O M

SERIES 01 UPRIGHT SCONCE

6ROLG�PDFKLQHG�EUDVV�ZLWK�VRIW��XQVWUXFWXUHG�KDQG�G\HG�OHDWKHU�
VKDGH���7KH�RSDTXH�QDWXUH�RI�WKH�OHDWKHU�VKDGH�FUHDWHV�DQ�RYHUDOO�
HIIHFW�RI�FRPSDFW�DPELHQW�OLJKWLQJ�ZHOO�VXLWHG�IRU�OLEUDULHV��
FRUULGRUV��GLQLQJ�URRPV��HWF�
$OVR�DYDLODEOH�DV�FRUGHG�ZLWK�SOXJ�

��«+�[������«'�[��«:�

0RXQWV�RQO\�WR�D�VWDQGDUG�YHUWLFDO�VLQJOH�JDQJ�MXQFWLRQ�ER[��VFUHZ�
GLVWDQFH������«���7R�EH�LQVWDOOHG�RQO\�E\�D�OLFHQVHG�HOHFWULFLDQ�
$OO�PDWHULDO�´QLVKHV�DUH�OLYLQJ�´QLVKHV��WKH\�ZLOO�FKDQJH�DQG�SDWLQD�IRU� 
WKH�EHWWHU�ZLWK�WLPH�DQG�XVH��(YHU\�SURGXFW�LV�LQGLYLGXDOO\�KDQG�
DVVHPEOHG��VOLJKW�YDULDWLRQV�LQ�FRORU��VL]H�DQG�VKDSH�DUH�WR�EH�H[SHFWHG���
5HFRPPHQGHG�EXOE�ª/('����:DWW�(TXLYDOHQW�(���7RUSHGR�����N�
'LPPDEOH«�LQFOXGHG��/('�EXOE�RQO\���
(���NH\OHVV�VRFNHW� 
1RW�VXLWDEOH�IRU�GDPS�ORFDWLRQV�
/HDG�WLPH�DSSUR[����ZHHNV��
8/�FHUWL´FDWLRQ��DV�ZHOO�DV�FXVWRP�VL]LQJ��FRQ´JXUDWLRQV�DQG�´QLVKHV�DUH�
DYDLODEOH�XSRQ�UHTXHVW� 



W W W . A D A M O T L E W S K I . C O M                                                                         I N Q U I R I E S @ A D A M O T L E W S K I . C O M

SERIES 01 UPRIGHT SCONCE WITH ROUND PLATE

6ROLG�PDFKLQHG�EUDVV�ZLWK�VRIW��XQVWUXFWXUHG�KDQG�G\HG�OHDWKHU�VKDGH��
7KH�RSDTXH�QDWXUH�RI�WKH�OHDWKHU�VKDGH�FUHDWHV�DQ�RYHUDOO�HIIHFW�RI�
FRPSDFW�DPELHQW�OLJKWLQJ�ZHOO�VXLWHG�IRU�OLEUDULHV��FRUULGRUV��
GLQLQJ�URRPV��HWF�

��«+�[������«'�[��«:�

IMAGE COMING SOON

0RXQWV�WR�URXQG�MXQFWLRQ�ER[HV�ZLWK������«�RU������«�VFUHZ�GLVWDQFH��
7R�EH�LQVWDOOHG�RQO\�E\�D�OLFHQVHG�HOHFWULFLDQ�
$OO�PDWHULDO�´QLVKHV�DUH�OLYLQJ�´QLVKHV��WKH\�ZLOO�FKDQJH�DQG�SDWLQD�IRU� 
WKH�EHWWHU�ZLWK�WLPH�DQG�XVH��(YHU\�SURGXFW�LV�LQGLYLGXDOO\�KDQG�
DVVHPEOHG��VOLJKW�YDULDWLRQV�LQ�FRORU��VL]H�DQG�VKDSH�DUH�WR�EH�H[SHFWHG���
5HFRPPHQGHG�EXOE�ª/('����:DWW�(TXLYDOHQW�(���7RUSHGR�����N�
'LPPDEOH«�LQFOXGHG��/('�EXOE�RQO\���
(���NH\OHVV�VRFNHW� 
1RW�VXLWDEOH�IRU�GDPS�ORFDWLRQV�
/HDG�WLPH�DSSUR[����ZHHNV��
8/�FHUWL´FDWLRQ��DV�ZHOO�DV�FXVWRP�VL]LQJ��FRQ´JXUDWLRQV�DQG�´QLVKHV�DUH�
DYDLODEOH�XSRQ�UHTXHVW� 

15
"

83
4"

51 2"

Ø6"

6"

UNIVERSAL CROSSBAR BEHIND
BACKPLATE MOUNTS TO JBOX

WITH 2-3/4" OR 3-1/2" SCREW
DISTANCE

Ø5"


